

Succulents - Rack Form

Main Office:

PO Box 187, Greenback TN 37742 Tel: (865) 856-8099 ext. 1 Website: www.popesplantfarm.com Succulent Greenhouse:
736 Alcoa Trail, Maryville TN 37804
Tel: (865) 856-8099 ext. 5 Fax (865) 982-7887
Email: succulents@popesplantfarm.com

Email orders to succulents@popesplantfarm.com

Contacts - Office - Claudia Sebring - claudia@popesplantfarm.com / Sales - Sara Melton - smelton@popesplantfarm.com

	•						
Company Name				Shipping A	Address		
			Street				
Order Placed By			City				
			State		Zip		
Order Date	Ship Date	Phone	e Number				
			Email				
		81 <mark>/2021 and shipping betwee</mark> FOB Maryville, TN. Freight R					
		rders must be placed by be available until until m					2.
All shipments ar	e FOB Maryv	ille, TN. Customers must be	able to acce	ept a semi a	nd have a fork	lift.	
Spring shipping begins on different dates depending on the area. You can request a ship date after the date on this chart. We always ship on Mondays, and shipping is weather permitting.	April 1st March 1 Any time No Ship	st e weather permitting	OR ID	MT WY UT CO	SD MN WI IL KS MO OK AR MS	MI OH PA IN OH PA TN NC TN NC FL	ME M
Pre-Set Full Racks - These 3 o	ptions are fo	or full racks only. No sub	stitutions.	Create a	custom rack	in the next	section.
Item	Item #	Picture			Pieces Per Rack	Rack Price	Racks Ordered
Full Racks							
Pope's Succulent Rack #1 - 2022 2" Mini Succulents Assorted - 256 (\$1.50 each) 3.5" Succulents Assorted - 144 (\$2.50 each)	R1-2022		SUCCILE	NIS .	400	\$744.00	
Pope's Succulent Rack #2 - 2022 2" Mini Succulents Assorted - 128 (\$1.50 each) 3.5" Succulents Assorted - 72 (\$2.50 each) 4" Clay Combo - 32 (\$5.00 each) 6" Clay Combo - 12 (\$7.00 each) 8" Clay Combo - 8 (\$10.00 each)	R2-2022		SUCC	LENTS	252	\$696.00	

Pope's Succulent Spring Rack A - 2022 Available early April 2" Mini Succulents - 128(\$1.50 each) Bicolor Clay 3" - 36 (\$4.75 each) Bicolor Clay 4.5" - 16 (\$9.95 each) Ceramic Animals 4" - 16 (\$8.50 each) Rock Planter 5" - 20 (\$9.50 each) Clay Combo 6" - 12 (\$7.00 each) Clay Combo 8" - 8 (\$10.00 each)	RSA-2022			236	\$1,012.20	
Pope's Succulent Spring Rack B - 2022 3.5" Succulents - 72 (\$2.50 each) Leaf Pots 3" - 36 (\$4.95 each) Saguaro Pots 4.5" - 16 (\$9.95 each) Ribbed Glazed 3.5" - 25 (\$8.50 each) Ribbed Glazed 6.5" - 9 (\$16.00 each) Whiskey Barrel 6" - 12 (\$8.00 each) Washed Tin 8" - 6 (\$14.00 each)	RSB-2022			176	\$1,046.70	
					Total Racks Ordered	
	Use th	is section to create a custo	m rack			
Each rack has 4 shelves		se 8 of the half shelf options below to fill		* Racks Mus	st Ship Full.	
Item	Item#	Picture	Cost Each		-	1/2 Shelf Ordered
Standard Items				•		
2" Mini Succulent (shipped as 2 flats of 32) - Assorted varieties.	91089-HS		\$1.50	64	\$96.00	
3.5" Succulent (shipped as 6 flats of 6)	68586-HS		\$2.50	36	\$90.00	
4.5" Aloe Vera (shipped as 2 flats of 10)	92141-HS		\$3.50	20	\$70.00	
4.5" Sempervivum Asst Hens & Chicks (shipped as 2 flats of 10) - Hardy to Zone 5	92500-HS		\$3.50	20	\$70.00	
6" Succulent (shipped as 2 flats of 6) ***the assortment in the flat will vary***	70154-HS		\$4.95	12	\$59.40	
Succulent Plug Tray (50 plugs per tray)	91506-HS	為甚至	\$50.00	2	\$100.00	
Clay Combo 4"	70162-HS	The state of the s	\$5.00	16	\$80.00	
Clay Combo 6"	70155-HS	***	\$7.00	12	\$84.00	

10" Corinthian Trough - 10"L x 3.5" H x 3.5" W

91484-HS

\$11.50

10

\$115.00

Item	Item #	Picture	Cost Each	# per half shelf	\$ per half shelf	1/2 Shelf Ordered
18" Corinthian Trough - 18"L x 5"H x 5"W	91502-HS		\$21.00	4	\$84.00	
Savannah Planter 8"	91487-HS		\$10.00	7	\$70.00	
Whiskey Barrel 6"	91414-HS		\$8.00	12	\$96.00	
Whiskey Barrel 8"	91486-HS		\$11.00	7	\$77.00	
10" Whitney Planter	91488-HS		\$12.95	4	\$51.80	
Hanging Planters						
6" Succulent HB - Assorted single variety baskets	91165-HS		\$7.50	12	\$90.00	
10" Succulent HB Combo	91165-HS		\$12.95	4	\$51.80	
8" Coco Succulent Hanging Basket Combo - with rigid wire hanger	91326-HS		\$12.95	8	\$103.60	
8" Woodland Hanging Basket Succulent Combo - with chain hanger	91318-HS		\$12.95	5	\$64.75	
Cylinder Hanging Ceramic 3.5" - assorted green, white, and blue with cable hanger Available early April	92462-HS		\$7.50	25	\$187.50	
Sonora Hanging Planter - 5.5" x 4.5" - with cable hanger, Grey and Black assortment	91358-HS		\$12.50	12	\$150.00	
Teardrop Hanging Planter 4.5" - 6 assorted colors, with cable hanger	92472-HS		\$13.95	12	\$167.40	
Tuxedo Hanging Ceramic 5" <u>Available late April</u>	92473-HS		\$12.95	16	\$207.20	
Animals and Novelty Planters						
Ceramic Animal Asst 4" - hedgehog, owl, and elephant	92186-HS		\$8.50	16	\$136.00	

Item	Item #	Picture	Cost Each	# per half shelf	\$ per half shelf	1/2 Shelf Ordered
Cement Animal Large (6 assorted styles) - Bird, Frog, Hedgehog, Rabbit, Snail and Turtle	91224-HS		\$16.50	12	\$198.00	
Cement Animal Small (6 assorted styles) - Bird, Frog, Hedgehog, Rabbit, Snail and Turtle	91223-HS		\$9.85	25	\$246.25	
Cement Animal Combo Half Shelf - 6 Large Animals, 10 Small Animals	91363-HS		6 - \$16.50 10 - \$9.85	16 pieces	\$197.50	
Ceramic Bunnies 4" (ND)	92216-HS		\$7.50	36	\$270.00	
Ceramic Cat 4" (ND)	91582-HS		\$7.50	16	\$120.00	
Ceramic Dog 3" (ND)	91583-HS		\$7.00	20	\$140.00	
Ceramic Cat and Dog Combo Half Shelf 8 Cats and 10 Dogs	91587-HS		8 - \$7.50 10 - \$7.00	18 pieces	\$130.00	
Face Pot 3" - Assorted Colors	92184-HS		\$5.75	36	\$207.00	
Flower Maiden 4.5" <u>Available Late April</u>	92463-HS	W. S. C.	\$13.95	16	\$223.20	
Stoneware Alpaca 5" (ND) Assorted Teal, Coral, Green, and White	92159-HS		\$8.95	24	\$214.80	
Stoneware Unicorn 5" (ND) Assorted Teal, Coral, Green, and White	92160-HS	THE PARTY OF THE P	\$8.95	24	\$214.80	
Stoneware Alpaca & Unicorn Combo Half Shelf 12 Alpaca & 12 Unicorns	92171-HS		\$8.95	24 pieces	\$214.80	
Rustic Planters - Assorted Colors						
Rustic Mini Chata - 7" W x 5" H	91163-HS		\$13.95	9	\$125.55	
Rustic Mini Animals - Includes 3 each of Mini Pig, Small Rabbit, Turtle #1, and Mini Owl	91503-HS		\$13.95	12	\$167.40	
Rustic Rabbit Large - 11" L x 8.5" W x 7.5" H	91066-HS	19	\$27.00	4	\$108.00	
Rustic Rabbit Small - 8" L x 5.5" W x 5.75" H	91065-HS		\$13.95	12	\$167.40	
Combo Planters						
Ancient Art Round 2.5"	92145-HS		\$4.75	36	\$171.00	
Ancient Art Round 5" x 4"	91349-HS		\$9.95	16	\$159.20	

Item	Item #	Picture	Cost Each	# per half shelf	\$ per half shelf	1/2 Shelf Ordered
Ancient Art Round 6.5" x 3"	91483-HS		\$14.00	9	\$126.00	
Ancient Art Combo Half Shelf - 18 - 2.5" pots and 8 - 4.5" pots	92170-HS		18 - \$4.75 8 - \$9.95	26 pieces	\$165.10	
Assorted 2.5" Succulent Combos	91380-HS		\$4.75	36	\$171.00	
Austin Planter 3.5" - Assorted Patterns and Colors	92185-HS		\$7.00	20	\$140.00	
Barcelona Round 2.25" x 2.25" - (ND) 6 assorted colors/styles	91314-HS		\$4.75	36	\$171.00	
Barcelona Square 3" x 3" - (ND) 6 assorted colors/styles	91315-HS		\$6.00	30	\$180.00	
Barcelona Square 4" x 4" - (ND) 6 assorted colors/styles	91316-HS		\$10.00	16	\$160.00	
Barcelona Mixed Half Shelf - (ND) Contains 12 - 2.25" Round, 12 - 3" Square, and 8 - 4" Square	91371-HS		12 - \$4.75 12 - \$6.00 8 - \$10.00	32 pieces	\$209.00	
Baris Pot - 4.5"x4"	92212-HS		\$9.50	16	\$152.00	
Barn Grey Cube 4"	92187-HS		\$9.50	16	\$152.00	
Bicolor Clay 3" Available Early April	92460-HS	333	\$4.75	36	\$171.00	
Bicolor Clay 4.5" <u>Available Early April</u>	92461-HS		\$9.95	16	\$159.20	
Bicolor Clay Combo Half Shelf - 18 - 2.5" pots and 8 - 4.5" pots Available Early April	92480-HS		18 - \$4.75 8 - \$9.95	26 pieces	\$165.10	
Blue Tile Round and Square 3"	91242-HS		\$5.50	36	\$198.00	
Cement Oval Distressed - (ND) 8"x3.5" Limited quantity	91234-HS		\$15.00	10	\$150.00	
Cement Rectangle Distressed - (ND) 10" x 4" x 4" Limited quantity	91448-HS		\$15.00	8	\$120.00	

Item	Item#	Picture	Cost Each	# ner half shelf	\$ per half shelf	1/2 Shelf Ordered
Rom	ILGIII #		GOSt Lacil	" per nan snen	y per man snell	,, z onen ordered
Cement Round Distressed - 2.5"x2.5"	91236-HS		\$4.75	36	\$171.00	
Cement Round Distressed - 4.5"x4"	91237-HS		\$9.95	16	\$159.20	
Cement Round Distressed Combo Half Shelf - 18 - 2.5" pots and 8 - 4.5" pots	91365-HS		18 - \$4.75 8 - \$9.95	26 pieces	\$165.10	
Cement Round Distressed Bowl - 5" x 3.5"	91303-HS		\$12.00	12	\$144.00	
Cement Round Distressed Bowl - 10"x4"	91235-HS		\$34.50	4	\$138.00	
Creekside Square 5" - 4 color assortment	91500-HS		\$10.50	12	\$126.00	
Driftwood Oval 2 Tier Cement - (ND) 11"x7"	91422-HS		\$27.00	6	\$162.00	
Driftwood Oval Cement - (ND) 6"x4"	91243-HS		\$10.50	15	\$157.50	
Driftwood Round Cement - 5.5"x2.75"	91244-HS		\$9.50	15	\$142.50	
Driftwood Two Tier 9" - 9" x 7"	92233-HS		\$17.50	8	\$140.00	
Driftwood Combo Half Shelf - 9 Oval 6" and 4 - 2-Tier 9"	92485-HS		9 - \$10.50 4 - \$17.50	13 pieces	\$164.50	
Dovah Pot 3.5" - 5 Assorted Patterns	92175-HS		\$7.50	25	\$187.50	
Floral Pot 3" - Assorted Colors	92181-HS		\$4.75	36	\$171.00	
Floral Pot 4" - Assorted Colors	92182-HS		\$8.50	25	\$212.50	
Floral Pot 8" - Assorted Colors	92183-HS		\$19.50	5	\$97.50	
Heart Planter 4"	91276-HS		\$8.00	20	\$160.00	
Jikka Cylinder 2.5"	91475-HS		\$4.75	36	\$171.00	
Jikka Cylinder 5"	91476-HS		\$9.50	16	\$152.00	
		i .			1	

Item	Item #	Picture	Cost Each	# per half shelf	\$ per half shelf	1/2 Shelf Ordered
Jikka Cylinder Combo Half Shelf - 18 - 2.5" pots and 8 - 5" pots	91477-HS		18 - \$4.75 8 - \$9.95	26 pieces	\$165.10	
Lattice Print Cement 3.5"	92465-HS		\$7.50	25	\$187.50	
Lattice Print Cement 6.5"	92466-HS		\$14.50	9	\$130.50	
Lattice Print Combo Half Shelf - 10 - 3.5" pots and 6 - 6.5" pots	92481-HS		10 - \$7.50 6 - \$14.50	16 pieces	\$162.00	
Leaf Pot 3" (3 colors)	92467-HS		\$4.75	36	\$171.00	
Linea Stoneware 2.5"	92211-HS		\$4.75	36	\$171.00	
Log Bowl 6.5"	91227-HS		\$12.50	9	\$112.50	
Log Planter Cement Long - 20"x6"	91245-HS		\$37.00	4	\$148.00	
Log Planter Cement Medium - (ND) 14.5" x 5.5"	91304-HS		\$24.00	5	\$120.00	
Log Planter Cement Small - 9.25"x3"	91246-HS		\$15.00	10	\$150.00	
Log Planter Combo Half Shelf - 2 Long and 4 Small	91369-HS		2 - \$37.00 4 - \$15.00	6 pieces	\$134.00	
Ribbed Glazed 3.5" - Assorted Blue & Brown Glazes	92177-HS		\$8.50	25	\$212.50	
Ribbed Glazed 6.5" - Assorted Blue & Brown Glazes	92178-HS		\$16.00	9	\$144.00	
Ribbed Glazed Combo Half Shelf - 10 - 3.5" pots and 6 - 6.5" pots	92482-HS		10 - \$8.50 6 - \$16.00	16 pieces	\$181.00	
Ripple Pot 4.5" <u>Available Late April</u>	92496-HS		\$9.95	16	\$159.20	
Rock Planter 5"	92188-HS		\$9.50	20	\$190.00	
Rowan Bowls 5" - Green, Blue, and Cream bands of color.	92176-HS		\$9.95	16	\$159.20	

Item	Item #	Picture	Cost Each	# per half shelf	\$ per half shelf	1/2 Shelf Ordered
Saguaro Pot 4.5"	92468-HS		\$9.95	16	\$159.20	
Saratoga Round 3" (ND)	91351-HS		\$6.50	30	\$195.00	
Saratoga Round 6.5" (ND)	91352-HS		\$16.00	9	\$144.00	
Saratoga Combo Half Shelf - 10 - 3" pots and 6 - 6.5" pots	92483-HS		10 - \$6.50 6 - \$16.00	16 pieces	\$161.00	
Scale Print Cement 3.5"	92469-HS		\$7.50	25	\$187.50	
Scale Print Cement 6.5"	92470-HS		\$14.50	9	\$130.50	
Scale Print Combo Half Shelf - 10 - 3.5" pots and 6 - 6.5" pots	92484-HS		10 - \$7.50 6 - \$14.50	16 pieces	\$162.00	
Seldon Pot 3" <u>Available Late April</u>	92471-HS		\$4.75	36	\$171.00	
Terra Jar 5"	92210-HS		\$10.50	12	\$126.00	
Tri Pot Large - (ND) 8"x5.5"	91230-HS		\$22.00	9	\$198.00	
Tri Pot Medium - (ND) 6"x4.75"x3.75"	91231-HS		\$13.95	12	\$167.40	
Tri Pot Half Shelf Combo - (ND) 3 Large and 6 Small	91364-HS		3 - \$22.00 6 - \$13.95	9 pieces	\$149.70	
Vintage Tin 4.5"	91221-HS		\$8.50	16	\$136.00	
Washed Tin Planter 8"	91317-HS	The state of the s	\$14.00	6	\$84.00	
Watering Can 5" <u>Available Late April</u>	92232-HS		\$9.95	12	\$119.40	
White/Clay Two Tone Cube 2.5" (ND)	91353-HS		\$4.75	30	\$142.50	

Item	Item #	Picture	Cost Each	# per half shelf	\$ per half shelf	1/2 Shelf Ordered
White/Clay Two Tone Cube 4.5" (ND)	91354-HS	A CONTRACTOR OF THE PARTY OF TH	\$9.00	16	\$144.00	
White/Clay Two Tone Cube Combo Half Shelf - 20 - 2.5" Cubes and 8 - 4.5" Cubes (ND)	91361-HS		20 - \$4.75 8 - \$9.00	28 pieces	\$167.00	
Wooden Planter 9"	91164-HS		\$12.50	8	\$100.00	
Wooden Planter 18"	91099-HS		\$18.00	4	\$72.00	
Total of half shelves must be a multiple of 8						

All shipments are FOB Maryville, Tennessee. All racks must ship with full shelves - 4 shelves (8 - 1/2 shelves). Minimum order is \$600.00. If combining racks with boxed items you must have a minimum of 6 boxes and the shelves on the rack still must be full. Customer must be able to accept a semi and have a forklift to unload at time of delivery.

Visible damage to racks or boxes must be noted with driver at time of delivery. Claims must be reported within 48 hours of receiving shipment.

Credit Card payment required in before delivery on opening orders. Net 30 is available for established accounts.

We reserve the right to substitute similar items if needed unless specififed by customer.

Sample Succulent Display Rack

